% i ‘ @ cJI0XeHue IpoOel (TOT ke 3HAMEHATEJh)

Nwms: Jara: Orenka:

AU\
+
|~

+
SEIEN

W | =

[E—
n| —

2|
_|_

e
I

+
O | W

O | W

\OREEN|
+
N —

RSN Ee)
_|_
[E—
B W

+
| W

2| A

W
+
EENII )
I

+
N =

N —

www.snowmath.com


https://www.snowmath.com

$De0C

CJIOKEHHUE Ipo0eit (TOT ke 3HaMEHATelh)

Nwmsa

2 1 3
-4+ - ==
77

1 7 8 2
—t+—=_=72Z
3 3 3 3
L6 122
5 5 5 5
4 6 10 3
—t—=—=1=
77 7 7
3 3 2

4+ =

9 90 3

7 1
~+=-=4

2 2

6 3 13 |
—4+ 12 =" =3_
sy T
fl-__|_§:1
77

3 2 5 1
4+ =2=1=
4 4 4 4
1 1 1
-4+ — = =

6 6 3

www.snowmath.com

[ara:

Orenka:



https://www.snowmath.com

